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1  505.1 + 184.03 + 9502 =  8  859.8 + 6118.74 + 10973 = 
                   

2  239.7 + 3637.95 + 7277 =  9  356 + 7051.45 + 2580 = 
                   

3  375.3 + 7426.13 + 675 =  10  96.2 + 5310.19 + 812 = 
                   

4  1047.5 + 5873.49 + 5103 =  11  380.8 + 2681.9 + 8174 = 
                   

5  688.3 + 2741.73 + 3012 =  12  74.3 + 4222.2 + 533 = 
                   

6  1058 + 9365.06 + 1278 =  13  591.8 + 4036.02 + 11079 = 
                   

7  1177.9 + 8299.86 + 4038 =  14  1015.3 + 10473.2 + 6059 = 
 

Problems: 

15. Three trucks carry 5,829.84kg, 492.9kg and 17kg of cargo.  How 
 much cargo do they carry altogether? 

16. The flow into a pipe originates from three smaller pipes.  Each 
 minute, 200 gallons, 750.89 gallons and 12.7 gallons flow from 
 each of the smaller pipes.  How much water flows through the 
 larger pipe in: 

  i. 1 minute? 

  ii. 7 minutes? 

  iii. 12 minutes? 

17. Find the total amount for the following: 

 £2.94, £183.87, £9, £9.67, 82p and £12. 


